M #

& % ! '
# #

PN F s s 8

% %& ! C(
! : -. /
2 + 32% &3

) $ $&! ) 5%& (

9 %$* &7

- 1; "5 3 % < =

=% >&3 % 3?7 =" >&, $0)
' & % 0 I $$ 0

"% 0 00 $%

3 %$ /| 2 $

$ 1( & %
& X 08 % 8
+ & <8% o+ +
5 % 0 % 3 $
8+ @ % &

? & ' % [ 2 $

0$0+ + ? 1

"#

/ 1*08 -+ + 6
$ % $ B + # %
13+ 8 # 2+0+ 1
'8 2+ %% '8 08 - $ %
5% $ 5 5 &5 #

7 +& 8

13
"%

"# % % »&-331 1 1 $

% % 00 1:
6# + 5 # "0 8 [ 2
5 2?21
- -+$&/ 0$ ) <8
' 7TA 1 ;6 % 08

B8 & ,%0) +&

<

#$ %
( $)

! "# %
! ) ) *%& !+
0%1 2# + % $%
(% -% $ 456 2&
- % & ( ) &" 6 &
%% 6 2& ' $ I %
8 %>&8 " 2=" >&3 (%%
= > ) <8 =)? >14 $%
I * : 05
$ & % I); s
I * <
;%
& @ $% 45 $%
- $ + 13 %
7A % % +
22 $% /A2 5 $
I * < 5

$# 1
$% &

-+

% $$!

13
00

-+
B O+

1 00 + :$.
5 =6 & CD>13 , $

1&31 1 $11 $+ 08 7
% ; + 2 INE

$I1* < % $

% 08 %
% %

3% %
$F-.0G1

08



- .3 + / 0!"1"234
( $) # 3 )5
08 5% $ $ - $9%? $* % 2+0+ 1) =C>
"% F(.2 32+ G + & % 5 -

$ $? $! 00 % 5 13 % $ #+ O
2+ %% 5#% ;0 +&5 % # I 00 H53% O

2+0% 0 5 13 5 ) $ -+ 3

$! 00 % ?$%1

8 $ 0 -+ 3 $! 00 5 &
5 % # 08 $ ;0 1) $$ + 5

& IN6# +! + # =< &C >$ # I 00 %

5 1; 820 # & 8 @ % $%

&$ % X I 00 08 $ ;0 % & +

< "+ +5 13 5 $1*08 <
%% 1 17 $5 0 1

! 12 % ) $ % % 5 1" 1)
6# +! + # $ F'% $2 G O "
+ & 5# I+ B + F@ G& @ -
+ $1 0 5% % , $& $% B + + & % F
$) G1 $% @ %$ & " $ !

+ # $? 1@ 8 0 % /| %0 )

% # 1

! ;00 Do+ 2.% $ &3 $3 &

% + #% I $# 1; ) B + 11115 00 1

<0 /5%% % |/ $ & $-+ $ B
+ $ 5

(% & |/ A ,2H#

6 & |/ , 2#

I+ & 5 %0%% /

1$3$ $ %/ & |/ 12 1

'8 $$ 8 %/

$ $ 0 $%1/ 11 0
5 1
"$S % $% B+ $7 0
& u o+ #
$$
($ J ( K
J K 4
I+ J Ky
3 $ B +
8%% @ I %0 B +
& $ 5 ? 1= @ %
5 | &5% +
' $ I %0
@% $5 +5 % / &+ $
5 8 1" ($
% &
$%$ $ % /
L B + ($ "+8 +
( +8 =D > ;%S $
4 $B+ - -+% ) (

B,
& | $% !

% 62 + % !$
18%$ =D D> 2 =D >

A # & &
&ly $ 2 J (&J J
& / %0 S

& : @ /$
0 B $%" %
+ 08%$ >13 %5
& (0 "
$ +5 % +$ |/
5 5 ! % &
I+ 1 $% %
+ 2 % 5 1
H8
4 # - % 1L
% =DD& DDI>2 $+ 13
/ 0$=C&CC&CC &



i .$) # % I )5

CCl> 5 / 0$ @ 6 = D> $1%5% % 0
I+ % # 1
@ $ $$ $$ B + /$ 18 -
+ 5 $$5/ 0% ) % 2 J& $ / $
/8 08 1
8 (% 5 ($ B + - $ % 7 0
# $$ ) % 2 J& =+1"1
% $$ - $ F7 ( G > h 8 08 & +1M
$ 5 1
@ % 3 $0 ($ B + $ $%& 8 % /
% 0 3 $0 / %O ( $ $0 %$ & 5
B + $ 8% 5 1 $%$
625A# ! 0% / 0 ($ & @
% + /0% 08 1/ % 4 8 &5 $/ = 8% %
2% % $ -%$ > $ -$ 0 0
5 $$1
'8 $ 2% ) % 2 ] &
B8 08 &S @% $ , 2 #
+ 2 # 0 1" 2$%&08 6% -
$ $ D # A 2#
A2  $$ %+5 1'8 $ +
H B +& $ 08 B +& 8 % !
5%%$5 13 o#$$ = > % 0 ;8.
B+ %0 + ! < 13 08 %
¥ A | 2# + 5 &
/! %0 :05 + " $ = 2+ 3% '$%
+$ I $+ " S , > % |
08 < ? =6 & 0%&(? 2%$%& CCM6 & CCM
0$%$& CCI>1
%$ *$% % 08 5 % 0%$% /I 0% 5 )%
2 J ‘& Lo+ = $ % ; +>
Lo+ w8 08 1! -+ 5%% 5 %0%
0 1
@ 5% + #% I 2* + /0 $ B + %
% 0 & N6 # + #%$% 0 5 =7 $ >&
$ $&11& ! + # / %0 =7 $>1/5 %$ *$% + +
& -+ %0 5 %0%$% /
% 0 % % 1* % @ 2 +2 5 +1"1 |/
0% 2 +2 =7 % >1
p
3 %0$ L $ + % 0 ! n17 $$
n;s$ 0 :2% I $1/5 $$%5 +&
% 0 2 + ; 2%  +51 ;2% # )
$ $13 5 0 0 < *  $ &5
2% B 1 $$ H % 0 0 *
< < * 5 1@ N
/ $$ ;5 N3 &5 5 % " 6

% 7 1894 =< & C>$% #3%$% 5 % $ ;26 5 +H



- .3 + / 01"1234
( $) # $ I )5
2 8 $B5 /) # ?2%% &+ 5%$4 % +5 % +5
5# $ & 5 $" 00 - $% +% & $
5 3 $% 8 4 % 4 % 1" " 00
2 $5 % 2 % & +5 "% ; $ %
= 8+ 0;>& - $ % % 5 &
+5 - %) =CD>3$% = 8+ ;0)>1/ " 00
'$$ % 0 $%13 3 % /A2 + $% 2+ 0
- 1% $$=C >+ 8%1 @ ! "
=6 $1& CCM CC>+5 '#$% 5#$1 3 ; $ + $0 F)$ $09%
25 G08 " 00 o; - $%;0)1=3
Sl % 71894 $ 0<: 1 ) 4% $< 195 $ )
41% =% ) & > >3? $ - $ 1>@4 )
AS$ = % A % $? !+ BC+ 1& !4
$ I'D i ( BE$% !# $ $ ( 4
% 3 $0 % 6 =CC>>1 / )20% D 6
$#0 1 " 00 O; +#+$% % )20$ ID
0 5# & $ ! ”+ 2% 1/ 5% H %
2 % & )20$ $; % 0 2
+ +% +5%% )20$ ID 00 ++ 13 %
$ +3% % /A2 $# < * 08 -+ 1
0 [ $# 1;/ #% - 5%$$ 5 0+ 8% 1
! F$ $03% 25 G5 0 2+ 0 < *
$ 13 +5 2% 2. $ % -A 33 8%% &
% & < < * 0 0
* 5 1@ 5 4 % + ;% $!
1) 13 6 # +0 108 $ # 45 ) $
A=> =>8 "B +1 % % =CCC> + "+ +5 % 6 # +
/| 2& % +5 % 5#% | ?* 0 & 5 8+ 5
= 08%$% 6 =DDD>>1



- .3 + / 0!"1"234

( $) # $ I )"5
'8 +5 //) $ A . AA . X 2 +$ $ A.
6 +2 $ +51 H 28A ) ?* Al '8 B % 6 #
+ +5 $A . "B + $

B % 6 # +

4 o+ 4 % 0 6# + % $ &
.5 % +#+5% /) $ 13 6 # + $15%
| 2 & 8 0 & B % 6# +

% % =% %& CC& CCCM) * % & CCOM% &) *% 6 & CCC&M6 &
DDD>0$ "+

/| 2
=>
@ $ 6 # + 7 1)$% => +%
+5 % B % 6 # + [/ 213 3 $$ =>
I 2 45 ) $ 2 $ - $5& 0 8
( # % +$$ % T# $ + 0$1
$0$$5 + " % "B +2 o & + "
6# + #=>0 $% & ? &
) 0B + 0 # 1" ) 0B + (+ #
+ /0 "B+ %O $ 1 08 " %
'B +2 5 -+ % O 5 13 %
H % -+ 1$3$ % 2%5$&58 % $% 6 # + $.
08 ;% -+ 1
% % $=CCC> [ 2 H $ 08 " 00 A2
0%$0 -+ 0 " 6# + % 1
3 /A2 + 5 %% 6 2=CC > 0 08 1 " 00 A2
% - 1% $$=C >5 % 2 % E
00 +E+5 "% + & +1"1& * $ &
$$ % & "% $ % 1'8 " 00
2 + - I % $$ 0 $ 1 +
% 08 38% 7 $ 13 #%0$% " 00 + $
% $ 8+ 1/ 00 % $%& $ % 6# + % & 2 $5
+ " % @ ? & " 00 2 + % $
1 % [A2 5 6#H + %
% % =CC> 08 : + % & E 'B +0%? $ 1
3 5, + $% %) -+2 + ) $ =) *%& CCD>1 2+ $$
o+ 0 ;2 $ I 33 =10 $%> + #
- 2 % " % 2 $% A+ H 2 1
/5 $ -  %#+ F, G ) $% " 00
2 + % 08 & ) $ 08 " % . E 6 +% 2
+ " ! $0 -+ $$1 @# !

5 - 1% % 2 $% A



( $) # $ I )"5
+5 $ A=> A=> ;0 $ 2 e = &> e =&>
5 6 +3$ 2 &= &> 6 # +2
! 6 # +2
]
3 % % $0 / 2 +8%$ % B +
%
! /| 2
1 =I>
3/ " % , 5 $$1
I $08 1$ 2 7P- " 00

/| 2 = DH>8 7P- " 00



+ /[ 0!"1"'234

( $) # 3 )5
6# += D(H+>8 7P- " 0 0
S ) % $ 8% F
) % 1>>>41 F F %$ G 1.4
$ $ 14 $ 0 !
= 1) 0o 1 % HI94 : )
% $ . F$ I = % HIO'
F $ ) $ ! F 8.,% :
8 .% "2& (%
) % 1 B.$ > H4!l 1:$ -1 $ 122241 = % $
$ 'D ;& ! $ $ (4
3 2 /| 2 ? 6 # +8 " 00 +  =7TP->
$ % /% " % ? 08 " 00
2 % ? ;. 9% 08 $ # 0 * 08
-+ 13 2$ 1 +5 7% 5 0+ 8% 1
! 5 6# +*5 0 2 +* 0
% + # +5 $ $ ;' $ 0 I* $
2% 1 % % % + & 5 %% +5 %
6# + /) " 2% (0 % = 1$ &
CCIM/ $&" % &' & CC> & 5 % $%& *
+5 % /)6 # + $ % 0 $/ A 1
$ % & 0 0 * 5 & 2%
< < *1 ( +#% 2% $& % 0
% < * $ &5 $0% S FS$ $0%25G
=)'-> + - $=/> ; $. %$% O
+ 5 13 % @ 2%$% # % %% O &5 &
5 /0 $ % ; # % 1" $ % /)! $
8 620 $& H 1$ '$#% 5 & %
3 % 0 513 . 0$#% 6 20 2% $ %
$ H /$ $ 00 $ % ; # *
+ $ %% 1@ 5 D P D/$
& $* 9% ?* # H I$ $D ¢
% $ + & % % o +& + L $
13 , % L $ # - % [+$ 9
13 8 % 1 2% 1*$ ?* &5 - %
+5 % /I+% % $$ & 11& % + #& 11&
6 # +1 ( % 2% $ &5 % 0 % <
* 8 % ; ! 2% )
% + #& 11& 6# + 1@ % 0 6# + $ & *
% o % ;2 $ $1



( s) 4 3

0 $ 50 / 0 $$ +5 % 6 # +
0 1! 6# +5 0 =) % =>>13 2 6 # +
=% %& CC> $ -+ % 1%% %13 200 % +
I 2%% 08 -+ 1
/ % $ & % E O $1
$ $ * 1
< / 7% 1
' $
%
F$ $; $
! #$ %
& % ! ( $ )
# # Yy # 0 $ $
! *0o ( $
) #0$ + $ $ $ % $ !
"
DDD H# ) % % ! 2 $ @% $ 3 $$ ;0
381 +1"1 $080
% ;% 080 $
% % 8%% . $08 080:H $5 F080G 5 %
FG FG
$$5 = & DD>1/ 6 $ $)$ % $$ 5
1
1% YH#% 2% 3$ 2% @% $ 3 %% 951/ $ 2
= CCD> "% F3 $ $)#%n G + % 0 7 % &
3 $ 5 &5 I $# 2# 13 % $
5 $1$ $# .2 +% 1/) &$"$ @ + &5 %
2 + &%5 $$ $"3 $@ 2# 5 5#1
32%3% &2+ 33 (% 0 % &5 % $
+ & % (% 3 $$ 0 ;0 $
+1"1 6 $F'$G $6 $% 13 "0 O $ E +51
(9 I 2% % 0 5 %0%% / !
% (% $ +5 &H 08' $ H 08
$0 % $% $$ =6 & $ ( %Y& DDM6 & DD>1 5
13 % 5 $ |/ E+,% E #0
5 14 6 + & 5 / 08
0 $$ ; # 5 + & % [/ 08 F-% 2. %
' G ! 2% % ; 51
;0 (% " % % 5 $% 00 + (
=DD & DD & DD %> 2 % @% $2$+5% ,% $0 $3
<? % - $ 6$A=CC> & (% < &08
- $ <? +5#% & 2 F5 % $8 $ +
%$ G1! $% " % 0 ($ 5 % 3 $$ 0

% <? 2+ +% & QB $ O 5 % 0%%
/ $ 0$1@ 5 ;o+ I+ B + E 0



- .3 + / 0!"1"234

( $) #o$ IS
< =< $1C> /$ + 2% %5 ! + #
5 $#0 / 08 $$ $&+ @ 08

+ 13 5 7% $51

"& $ # !
3 < % (% H 0+ %
| $# % 0%$& 5 % 5 & % (%

2 $5 ;0

F@ $3 $ 3 +5 + % NG
$? =( %& CC>1/ | $# %+$ 0 I$ $# .2 &
& % (% F) % - $ G +5
I $# =+1"16 6 $% > 2H# H % <? 05

- $ I $# $? ? & 5# %

$ + 5 | $# 1/ $% (2 S$# %

% 0+ & + #4+3% I $# % (% %

+ #4+$% $ ;9 $ + 1<# % O
($ %5 & $ %+ " $ 6 6 $%

& $% % $ ; $08F ,% G 08 F'$ G $ %+

1;" 2% ( % =CC> 5#% | 0 5%$% 5
) 2% % ;S $% 13 : $ +
5 0 13 " 00 F I $# G 08 5
I $# =, % "$ >+ <? ;0 2 %

" O0OF+5 ! $ # G 08 1? $% & $ -3% 0+5 %
@ + $? & 5 % <? )$ % =F, % G> % %
7 0 =F"$ G>1'8 @ F% %G 5 5 $5 %

@ F 005%G&5$ % L % )#H% 2% $ $) ++
. % FS$ 0G $ 1

; $ I $# 0 $ ,0 +0
; $$ 08 , % $ 08
"$ 1" 10 + 280 & % ;5 0%
2 00% + 0 - $ $
13 $ % F $ 0G % $% $$ 1
$ % ;0 + & H5 $
I $# $? 13 $ ;0 (%0 + - $?
5 =F% %G> % & +5 3 % J $ 5
I3 % % * $225 1=F$ 0G>13 $ ;0
% #$ =F % G> % % =F $ 0G> $? 5 18 "
: % 1 $$ ;0 + [% ? % %

% 2 ES5 5# + <? 14 %3

=F% % G><? 5 % %$* % & '‘80% & % % 51

0 1% & 80 5% + %00 1



- . % + / o!"m1"234
( $) # $ T
cl = C $% ) # $ $ ) & 1 >>@4!
$ 3 *1
/"0 & % 2 % "$ 1% $$& ;+9%
5 08 < => & 3 $& % =D>
+$ /% $2%+ 1
3 2# $ % 2 0 $ $$ E 5
+ 00 3$% E % 2% % |/ 2% 0 5 %0%% /
@ 5 E 0 ! $# 2 &
% (% +5 | $# % $ H5 $
I $# <? F5 ! $# 0 G 2# =+ +
" <? 2+ 0 >& $$ 2% % ;% O
5 %O0$% / % (% +5 $ ;8%
% $ H5 $ $,; % 1@ $#* % +
N
") *
:03 = C& % % CC> E + 8% &
" % 2 $ 14 + ?2%$% &
5 00 ++5 % +5 ;0 & %
2 % 1 3 5 + & ;0 %
$ 2 % % 1
3 R 5 %O 8%% R 300 + 5 % &
08 H +$ % 2 5 1 " %
(% 72% <? 51 $# 0 =F% %G
F$ 0G& ; $ 2 %5 10 $ >+ 72%
<? [ $# 0 =F % %G ; $ 2 $5
, I > & $3$ 300 +$ H $; %
F8 $ G& 08 "$ + # &5 5 4 $22
3 % % 1" % $ $F %
300 + % + #+$% ; + % & 08 % 2



- .8 + 0!"1"234
( $) # % I )5
$3 % $ 51 $# ;0 &
+ 5 F,% G 1'8 "2 $58 5
" % (%0 + - 2% 13 5 8% % $3 &
5% <? ; 0 $ % , % $ - $ %
$; % 513 72% 5 8 6# + 2 IN)y; 5
1
3 1/);5 0% % % 5 %$ 2 IH6# + 3.
=% %& CC& CCCM % % 11 CC& CCC&ICEBCH # + I* 08
% + # +5 $1( 6# + =% >, 1/ 0%
"0 # 0 % 1$ 2 0 8%3% 5 5
"B + D(H1"+8%% /)3 5 0
< 5 1 3 + %$% ;3% % # % O %
13 DD 2 = % % > % "
2 INe#+3$ %3$ 13 ;8. $$ DD 5$$83%3% 5#%
5 13 2% % " % * 3 ,$$13 ; $  +
$ 300 + # + 2 08 % $E (% <?
% ;0 =F+5 | $ # =I> I $#
=1>G>1
3 "0 ; $ & $ %
(% H ( & 08
I $# 5 %% & 5 % 2 $ +
2 $ % E $ 0
% $% ! $# % 2 $ =%> % 08 1
= % +D :$ 16 #
1"'#4 $ # 1# 474 0 AS$ & = .
) 2'@ % JKO9K 1 8 % 4 1% L 22 2
$4! = . ; ) M221$% 4 221% $4! 1: $
$.$ $ & "227 $ $ 8 14
N K $ (% % $ $ $ & $
= # C$ $ % | ") K&
C % JK9K! O "&
# S #%! 0 C !



- . % + [ 01"1"234
( $) # % !

4 % 5 0%& - 3 3
% 08%% 5#% ;0 =F | $# +5
I $# G> % % +5 Il $#1: H %
2 I $# $% % ES5 - %
0 5 E % % 5 14 "2%+ :
$ ,% 2 '5 +
- #B $ & 001 @ % # 0 $ 7 5 $
+ #+$% 0 $ ;# 3 0 (%

3 0 5 %0%$% / 1

+) $ $ i * 0 %
*
) 5 5 $ $#8 % 1 3 % + !
0 ( % =CC> 54 $ 5 & + $ 0
% $% <? + 8+ 5 $ % + % %
14 (2 8 ' +5 % ($ 5
%0%% / 0 %% + 7?2 & % 5 +5 /A 0#%% =>@ $0
% $% 5 & $$ ; + 8 08 "$
+ # $ ;%% <? + + 1=>@ $0 % $%
5 & $$ ; + 8 08 "$ + #
$ ;% + $$ <? + $1/ F2% 2. % ' G&
, + 08 "3 + # $ ;% $°
<? + 0 & %% % X 05 &5# 8 $%
$ ;9 0 $$ + 5 13 300 +$ +5 %
51 $# 0 = 3 ; $ ;0 $ |
+ % > [V $# 0 = 3 %
5| + +% 5 "0 # 0 ; 00 >5
+1 ;3 F2.% 2. % ' G %

% 2 $=8 1$ 2 9l-I> $$1



- .3 + / 0!"1"234

( $) # 9% I )5
'Y
J . .
A
™
* =
N -
+
n
+
iy —_
3 J
*
*
1 232
! " # $
% " # $ &
) 1JK9KI 4 + D ) F # % 14 $
# $ 14 % JK9K ) +D$
1 14 F # % ! N $ $ 9% 1 1JK9K44 =
F ($ % ! . $ $.9% $ & "22'?
$ $ 8 ( 14
3 ; 2 ' 0 $5 % ="S C&M2S
D&D >13 ;: $ I+ F2.% 2. % ' G088 $% /% 2 1
3 /5 01 3 F2% 2. % ' G& : + 8
/$ 2 9l C# <? + $$& 5
22 $ 08 ;3. $$ 01 $#
5#% $; $E 08 % E & 8+
<? + 1
3 % 1 2# "4+ & 5 " % 5
+5 % #* -% 2. -+ " = 0%&
DD>1/ $#* % E 7 % 3 2+ E $ @ ' +5 %
A $0 -+ 1
@ "0 & 08+ $# : 08 $0
% $% ! $# 5 %% $; 9% <? + 8+13
% /[ 0$* 08+ 08 0 <? + $$

| $# ?23%% &5 (% 8+ <? + 05 1



- .3 + / o™ 1"234
( $) # % I )N
300 Fp1F7 300 Fp1F3 300 Fp2F4 300 Fp2F8
0 ety 0 oo 0 e— 0 fromeemem
300 200000 300 "500000 300 200000 300 200000
300, F3F7 300, F3Fz 300, FzF4 300, F4F8
U () D Se— () ES— 0 f—
300 200000 200000 200000 “*~200000
-300 -300 -300
300 F7T3 300 F3C3 300 FzCz 300 Fac4 300 F8T4
300 200000 %) 200000 %) 200000 200000 200000
300 T3C3 300 C3Cz 300 CzC4 300 C4T4
ol ,,,,,,,,,, . oL - 0 0t
%) 200000 %) 200000 200000 200000
-300 -300 -300 -300
300 T3T5 300 C3P3 300 CzPz 300 C4P4 300 T4T6
0 fre— ol i ow""'\ : 0 0
200000 200000 %) 200000 200000 200000
-300 -300 -300 -300 -300 Nur bei C4P4
ist der
300 T5P3 300 P3Pz 300 PzP4 300 P4T6 negative
0 - o . 0 0 premsemasy Anstieg
200000 200000 200000 200000 —
-300 -300 300 -300 signifikant.
300 T501 300 P301 300 P402 300 T602
0 ogrreasn 0 - 0 fe=msmas, [( ] E—
200000 200000 200000 200000
-300 -300 -300 -300
= 6% % 8% 7 : $° 1 0% % JKI9K
) ) 0% ) ! %G .$)
% F$ P ) $
+D$ !
3 + 5 + 00 % $% # $
% 2 14 + % 8 +1"1 < 2+ 08 5 & %
+ 08 H +$ % 2 8+ 5 ? 13 + 80
"% $ $ 1
0 $ 50 /% % 0 $ +5 %
($ 5 %0%% / $$ & F2.% 2. %
G 11 (0 B % 1S B # .2 # 1
< / 7%$1
F$ $; $
! " $ #$ %
& % !
" # $% !
& C( % #



- .3 + / 0!"1"234

" H#
3 < % 5 -$1/ ++ & % <
: I+ B + $ $# $/ 2
5 1@ 0 0 9% = > %1 D -. 08
" 00+ 8% & 2# % 1*08 4 5 5% $ 5 /[ 21
@ /$ =D> 8+%% < + + # % /5%
$ " 00 4 $ # 08 @ %O $1
I + # =< & C > + $% $ ; + # ) 1! +
B + 5 $! 00 00 !/ %0 00 $P %
1
/| < % % %5 Fl% G % % F-.0G
F-1G8 $+ L+ $ “H# 1/0 %
" + /0 /| 2 +51/ 2 1+ B +13 #
% & 7TA @ $ 4 % + T+ o+
0 1
@ 7A5 0% + 5 # $ /I %O
% & ;0 $ -+ 0/ %O I + # 13
% % 5 # $ 5 /[ %0 % 8 :
< 0B+ %O I + # 1
!..
'8 IN'*=%$17 $ >&+ #% 08 < 2# 08 6 # +& %
51 + # B +1
10 < % =< &+ T-%& CM % T< & CCM %& CC>
n;s. + 8% & " 00 F G 5
$ $% < $ ! + " F: 3 G +%
51 $% ! + # R $ + % R 12 B + 1/
12 ; $ 8 72 2 13 ) 0%
- $ $ 8 /% 0 $ + H 2 $ 128
2 $3$ $$ 1 % + 0 6 5 Q%% +5 %
+5 0 0% 12 14 % Q $%
@ &5 + +13
+5% +5 % ) +1/ $% '$ #$% 125
$ 1+ 2 1/ 1?%$% + " Q$% +5 12
/! $ < %5 2 - $ % &
9 15 O 0% 12 % +1"1 # $% & 5 9
0 ' % $ 1
+ $% $ &5 < & % H5 $
0 2+ 2%1
! ! $ % 08 H $ ; 0 B + + $% $
1$ 17 + =CC> (%0 ! % =CC>
5%% 052 " 00 ! $ % % + &
9 0 + % 0$1@ 1 0 1
7 + =CC> #0 $ =3 o+ # >
% 1 % ! < %13 %0$ " %

$ 0 )3 $0$25& % 0 < $



. $ + |/ 01"1"234
( $) # % L)'
I* 21 3 $ 5 08" 00 = ;> | $ %
= )> 138 5 ( 08 +5 5
$ % A2 =5 ;> "$$ 5 0 &
% "% $ % 13 0 00 % $%
00 + $?2 1 +5 '$$ 9 % " % $ %&
0% " 00 $? =/A2 % 7% >1
3 $ 08 'B + E D+ ; $ $$1
3;%$ + ( 08 % $% % $'B +# 13
1 E ) &S 1Q4 $ 8% F ) $ 0: 0 :
$ $ :$: 8% "AR2& 1 >>3411:$ -1. $ )
$ = % A *% $?2 1+ $Cl+ 1& 14 $
( BE$% D >>@! # $ $ (4
;0 & &) o - 13 $
08 $3 ;0 B 1/ 8% $ #%&
$ % $ " 'B + %#0 5 8 13 ; % $$
3 % $ $% % 13 1A $ ; $
0 % o+ ++ $ $0 % | &C &Il & 51
3 $ +5 0 % ) *$ %
B & &H % $ $ % I
B .2 )*$ =CC& CC& CCI> 8% $
8 & 5 % 08 = $1
Q $% # - 1>13 % % "0 6 22%
+5 % /I & (% & ) *$ 3 &
5 %0%% / 1 /I $ 3 1$

2 + 1



. $ + /[ 0!"1"'234

)5

! ME ) &S 1Q4 $ ) 8% % 21 >>34
$ R: : 8 1 %S 4 $ ! 8 ">
# $ !
% 7 + "0 + $% $
++ $ $0 % 1! % % $ " ; 08
0 2 + $% $% %
: 8 72 2 1 F G % $$ O
5 & $% 9 0 % 16 %5
=l + > +8%$% + % N
(" # 5 4
< % ! ! 08 H
$ - 9 5 13 %
+5/ %O + % % < %52 =9 >
$ % '$1'8 < $ 5 $ 6 . 5 & %
DD. /$ 2%+ 513 6 P + %
- $ 0 $%$& 6 IPI - % 22 %1 3%
6 P 1$ O+ = > +% 13 $ % - $ $
2 @ &5 H 5% 9 & <
3280 % 17 + + #% - 9 08 H 08
" " 00 ;- $% ;)& $8 5%
& 0 5 < % 9 1 11
" 00 .8 | $% ;)&5

% 0 < % + % 13 %



- . % + / 0!"1"234
( $) # $ [ T
< % =5 2 % $ 2# %> 2 % /5 1
4 0 /00 # =D&> 0 4 % 9
2 & , 3. % 1
" 0 $ 7 + +5
.5 "0 # 0 Cl = 2% 1
A $ % ; $ +5 %
D > 13 ! =l $& % %08 & %2 &
3 3 5 >0 % 7 + =CC& $1 % 6 =CC>>13
) + / 1/ % 0 4 %
¢ e - s
X O X0 X | O X O
7"8 " I ! "# "
0 ox X O Q1< X0
bn X 0 Ox >;@ X
7 "8 "# # " H#I P 1 #
$%&( (&$(
S % ) 10<:4% 9% $ ) 1$< 4 $
$) >K 1 >>341 = * $
$ $ - $ HI=.
HH % % = * g $ 1= . $
) S$ #$ ) $ 9 F %$ !
1.3 -1.$ 1"2224! = $ $ $ 'D T & ( !
# $ $ (4
9 2 +5 % " " 00 ! $ %
1 11 11?7%8% 5 " 00 1
2% % 11 %% 1 $ % + o8 ! $
8 33 H + " % _ Cl 3 +
+5 % 9 2 " $% ?* 5 13
9 08 " 00 5 % $ 8% 1
00 % $% 4 % +5 % " $% &5
% 05 0 Cli + 168+ %
"0 ?%% 5 5 + 0 2 + 1L
$# % X 1 ; 8% 08 X
" 00 0 % DD 3 168+
8 ; % 9 00 % 1/ +50%
5 & "0 5 +2801
0 (% 0 63A=CC> 5 ! % =CC>
! + 08 I $ 00 + $% " 002 1
) $ $ 08 2 0 (%
" 00 & 0 00 +5
%1 DD 0 5 %0%$% / & +08%3% 1 (
22% 5 /2 L % % $ %
0 + N



( $) # $ !
7 + 70B+ 5% 0 (% =)*%$>% % O
5 %0%8% [/ =7 +> 0 I+ 08 9

" 00 +51! $ $% O /1
7 + 05 9 2 % 08

+5 $% 2+ % 08 & " 00 0O M

"% $% = ;> F % 00 G % "% =

:>1'8 " $3 % 9 "% = $> %
% & ;0 : " 00 5#% b5

? 13 % '$31

0 $ 50 9 % O " 00
=l + # > 3 %1 DD 0 $%1
8+ : 9 00 5 5 1/
%5 & I + # % 0 5 & $ %

5 &5 $% 5 4 % 01

+ 6
! "I #

0 8 +5 % $ B3 # +

00 . % (+ 33 $ % $& 8

$ ;8% 5 11 ) 05 08 2 $ 3.
% % =% % & CC& CCC> 08 2 e # + $.

% % 1 $1 =CCC&CCC&CCC%>+ & $™% $/$ % i)

! % &5 . 2% 2 6# ++ ) $
$ S % 5 1:0+% 5 /I 8 $ % =DD/$
$ >1/3 2%+ 13 5 08 H5 $ % $ 2

6# + % $ $0 $$51 H  $ 2 = $%$1

> 6# +5 8 D /$ 2 0 $ 128
72 2 620 O $ $$ 1 ; $0= % $%& 5
0 008 ; > & + $% $:% 0 &
5 < % ;2% 0 13 + 3% $ ;%
5 6# + 0% 13 % %
# 6 # +8 72 2 + 3% ;% %
0 & 5 0 0 :+3%% $
+8% 08 5 = 08%% % % = CCC>& 0% 6 =D>1
% % =CCC> $ 9% % 2 2% Q%$% +
0 $ 6# +2E $ < % " % ES$

I+ # +% 13 ;+ % I+ # 5 b5# 9% 8%%

5 8 F 00 G & ?% % @ $$13 08 %

% 3 $% 0 0 % % % =CCC> 5 $ =DDI>1 $

DDI&6 & $ ( %& DD>> .5 I1A2 +

% - $ % % 08 + $ 5 + % I+ #

1/ !V + $$ E % $ + $% E X

$ 8 620 & '$3$ $ 2 /6 # +1 $$
& ;+ 3+ % I+ # * & 6 25A #
) * & % 5 + $ i+ $ 820

% 5 1 % 3. 1 % ! % %

( % =CC> 5% $ % - $ 0 + &

% '$$ 1 0% 5 | + # & /A2 %

1 %@9% 6 00 +5 % D! + #

$2+0 % 08 6% ;0 % 1, % $ %



- . % + / 0!"1'234
( $) # $ )5
! DD! + # % &5 D! 2
H ! 2 D; 2# 1
6 $ $1=D>5 %$ $ $1=D > % 4 % H5 $ |
' + # &H % $F$ $0 $ 25G1'8 4 %
% ($$+ % +2 - 6 $ $=D>+ H !
+ 0+ & % ($%$+ 5 2 $1"$ $
0$$ % 5 1
$ -+ $ B + $% ! + # $ 5 1
' I +# $"% $ 2 0& $$ -+
F@ G $% $2 1@ 40 52 % 2
I + # & % " " % & 06 # + $
0 %1( $ + 80 "# 0% 1
3 % ?2$%& ;0 $ % I+ B +
5 %0%$% / + - $%$? % (% "+ +
+ =%$11>1
$ "% "% "&
"% 5 + #% 6 D % +5 I + B + H
% $ % % % 2
<? % - $ $ D
I+ B +
$
11185 "3;3/";" 3; /" 3;9;"3;39:;'91111
%
raxry// 9/ o9/t 1393/ /) 1111
3 I+ # L /) 1 3 8 08
- $% "+ % 08 I+ # 54$ 5 1@ %
& I+ # $2+0 % &5 $% H#FS%1-# $ % 0%% $#
% - 8+ $
% 2 013 % " % [ 2 +51/ 2 $# %
$ 3 =6 &CC>B 0+ 1
[ 2 '$$ D H# I+ # 5 0
% # 0 %0% $/ 2 0 =% % & CCC>
S &111& =! I+ # > =>
3 / 2 0% B $3% /I %O
o+ B + 1!

HS &111& =! I+ # >



- L% + [/ 01"1'234
( $) # % TS
) ) S &l11& =! | + # > =>1
3/ 2 8% 4 : $ I+
B+% $ 1" S| + # @ +5 % D & 13 /
2 5 ?”*&H # L % $% 0%% 5% 1
3 8% [/ ? $ L % % +
% - + & 5 $: $ +% 2?2 1
9" # 5 76
"%
$ =DDI> % % =CCC> 5% 1 * /| 2 <?
% - $ 08 % (% % $
13 ;% 1+ 0 ? 2 (%
8 $ $ <? -3$ = 5
! 0 7% % >1 $ ?* $
3 +% 5 1
ll+
" H
", B -"
o
:||< H
o
7
'K % $ & 1 $ 1441 % $ 4 +D
9 2 & $0
1"22K4 $ . 1>>>41 = C
=) ( $ # $ 5 $
. 9 3 > $ .5 1"2'4
%:l ' 1% 1$% 1"2'l < $ %
@ % $% "0 $# N 3 3 + % 0 5
1 $# 0 &% ;0 &+ : : +5 1 $# =%
%> $ 1/5# $ 23% & $% '$ 3
# (% 5 &5 $% 6% 10
+ 51 ; L $ % +5 & [ $#
0 4 % /| 2 +5 % /A 22
$ 22+ 5 1" T 0 I $# +
<? 5 5 & 5 ' %= +1"1 0% ; 00 >
"$13 ;. $ + - |



- .3 + /[ 0!"1"'234

CH % $ & 1 % % $ 4 +D ) AS$ F
# $ 2 $ & $0
I = C F # $ #
$ 11 "22K41) 1'$ : 1K4!
8$% + 5 & 't % (% + 1% $# 0
# $ 1 4 + + $% 5 /| 2
H +$ % 2 <? 0% =%$1; $ 7% &;0
> %5 =+1"1 @ $3 % /% N=( % =CC>>&;0 %
>5 1 $# 0 18 63 = 0% %5 > 5
| $# 0 $$ (% > | 2 05 %
$ 1'8 % $% /! $# 0 =+1"1; $
& $$% ;0 > 33 % % 2 $ %
% 13 ; $ + / 1
2
] X
i 2
i v .
_ i X ~ L 4 X“‘
— L ¢
- 1N X e
= ., >
- >\><
s () !
13 % $ & 1 % % $ 4 P ($ %
& A$ O +D 1:$ 4% 1:$



( $) # $
b e EF
'S
. X
* X
- xxx:x;’o 1 . X
- X X o M — o X XX
H = - _ QQCX
N X » eX & §
$t () ! TS+ (!
| @; : $ 3 AS$ F $ I-
$ ( $ % !

()

4 ) CH# & % 3 % (% I+
B + % $# & + $% & % 5 & ) + $% &
$% B + + 13 . 5, H & %0%$ I+

I 4 # + !

vH ! Ky =I|>
3 I + # $ % % % % & % % ?%$3%&
% , $+ 1; $8 $% , $° % % 3 % ;2
@ % $% & % I+ ! I+
HO$1'8 ! + # + ? B 3%/ %
@ % $% =P>& =P >&1111 08 +5 %2 0 $

$$1; 3 $ 0% & % (% $%+ $

5 L # =G, $G> ”» @ % $% 5 1
3 ? I % 2 + 8+ % 8+ 0 (

$ #* 1

.15 - E114 E1"l 4 ) 3# 3

0 104A% & 184 $ % $ 1 T "01# # $ 44

" /0 @ % $% ? : $ % % + %

, B (#0 $$ 13 ? % 1?7%$% 08

$$ + 200 1



- % + / 0!"1"234
( $) # $
S
$ =DDI> B + I+ # <? % - $
08 % $E (% 1 ; $ C $ <? +
I+ B + 08 H % (% E $ <?
%
%
SD1C ( S1
I+ B + =H 2>
|
© 5 + = > +
l: T
> # +D $ 1% 4% # $ 1# 4
0 104 $ & 1& 4 +D 9 1 "22K? . $
$ & "22'41
- $ $$13 % # 08 #0 L # 1:004%% &
8+ <? + (% B + I 00 13
8+ (% 0 $ 8+ B + |+ #
0 5 %0%$% [/ + 1: 00 (% #0
+ % $ * 0 13 2?2 + 8+ <? +
1 2 ? 5 6$A =CC > (% 5 &5 0
<? 08 1
V& =
39 I+ # 0 . % ;% 13 ! 08 $
& 2 %$5 300 + % 3 13 $% $ 08 7 0
% $) 1
3/ 2 * % $% ! 5 2805 13 2
:0 5 5 0+1"1 6 & < &! & 2 51& +
280 & F5 &5 O G$ !/ %O (% % E +2
$8 0 E /| 2 % $# 1
3 05 5 & % 5 + $% + 1
3 0 1'% 5 $! 00 I+ #
$$51 -+ $! + B+ $ 1



- .3 + / 0!"1"234

( $) # $ I )5
; I+ B + 5 [ 2 % 1 )
I+ # $ % < 13/ 2 5 $ 1*08
< %% 1@ - 80 I * 0 $%1
3 B+$%$ 0 % / $ % : + @% $5
+5 % / 1 +1"1 8+ <? % -$ +"$
2+0 % B + I + # "+ +5 13! + #
? % 5 13 7 % " 00
8 ! $ % 4 % +5 + #+3% ! + #
1
[ # % % & % / 2 & 0 #0 X
+ % I+ # &: $ 3 #* 1

9% &,1= >1;1-.1& &21 1

3 &'191=C& % % CC>1: 2 0 $2% 1 9 1. 14 &
DI 11
/$ &@1=D >1/ 2 E " 00 -. & $$ " 51
2PP$ ++ 1P+ $ + : % P
/| $&;16&M" % &'1&"' &-1T &E@LEC>1 $% " ;0 $$
H 2# 1 416 2T@16 =( 1>& )
$ =1 CEDD>1@ 4 # $1
/ $ 2& 1=CCD>1= ! ? &7 &8% ( 01
) &@1,1=CD>1) 2 05 % 1 : & & IEI1
) $&((1)1=CC>1 % " $ 5% -% $ -. 3
10 % -+ N (2 L$ +1J
$2  # ) 1 F 9 &>> 11
) $&(1)1=CC>1 5 % $% .: A %. 0 % %$
2 1 (1)1) $&1@1< &T 171 75 =/ 1>& J 9
9 % | =221 C >1(%$% $ /$ 1
) $&(1)1=CCl>1 L 1?%$% + $% @
) #% "% % U B Ul 313? T/ I =/ 1>&
= ! =221 C >1)? ( 01
) * %&)1=CCD>1] %$ #G =  $
%% ! (% % 0&' % % $% 4 # 1
) &,1=C >1 &% = % 1" & &@ (1
%&'1=CC>13 $+ 4 % 322% 2# 2
" % % 1= 200 $% >1
( %&'1=DD >17 % ; $. 2 % / 8 @% $
<?  $#0 <? % -$ 1 ($ % 0& ' %
% $$ 4 # 1
( %&'1=DD>1 @% $2%$+5 % ) ; P$ $
% < 2 +2 =+51 >! % 1 + (% &
"$# 08 + $E $ 5 %O & " % E % $$ EA4 # 1
( %&'1=DD%>1 /08 1 = # $ 'F$ - % 8 $

$ F 1IC& & 1

$& 1&($&31& & @161&3 & 71T&71=D >1, E I % +2
;. % 3% $ 02%0% % 1 J 0%
% & CE 1

»



( $) # % RS
63A&'1=CC=10 % ( ! )? ( 01
6 2& 1=CC>1 F$ E % ) D $ . (
% ! 32% & 08 -.% % 4 # 1
6 &@1=CD>14 % + 6 2 $. 0% - $3%$? 2+
1F 9 & & CC IC1
6 &@1=CC>1: $ 3 ;05 1 F 9
1%$%%8&4 IDII 1
6 &@1=CC>16% +5 $% 0 +N ! <
$ T+l @16 & /1 0$&TI1 $ =/ 1>&
$ % ! =221 D >1 4 # $1
6 &@1=CC>1/% $. ) #% 32+ $/NE A2
$$ M )1<8 4l< =( 1>&/ "$ & % T,2
% &)? 1
6 & @1=DDD= $ $ 3 1 )? (0
$1
6 &@1=DD>1:* 52 %% %%$% O 1E/A 22
$% 1 _2PP5551$ + + 1 PH $P$ + $ PDD1
6 & @1 =D> ! %$% 0 +28 #1 <' </
5551% + 1P% P OODIO 120
6 & @1& 0$&/1&(? &)1&T 2 $% & (1=CC>1 ;05 4
@ 6 %$% )H#% 1 9
'Kl .53 C) $ & 11= %>1
6 &@1& % &"1&) &(1&T6 &"EC>1 L 4 % 00% %
$0 % $% V2 H $ 3 0 1
F 9 &?2H CD1
6 &@1&) &(1&T % %&"1=CC>1 9 D % % 0 % 2
% B 5 00 51 0% %! & IC 1
6 &@IM $&)1T( %&'1=DD >L @% $2%$+45 % ,% $0
$$ <? % - $ 13 ! % & & D 1
6 &@IM $&)1T( %&'1=DD >/ 2. % %$ 0 1 <
&41=/1>( " 3 1"$& ($ &5 2 & 1
6 &@1T $&)1=DDI>"$ % ) $ 1(? : E 8+
$$ 2% % % 00 $$ 4 % + / 2 1
6 &"1T6 &@1=(1>-%$% 6 A 5 %0 1'
% 0 08 6$A+ 1) 1; $ < + + #&"11"
$ 0 $&CI1
< &3=C>1- %2% 02 $ $. 1 1) T, =/ 1>& &
% % $ % & $1 &221 DC 11; $ 1
< &31&:+ &(1&T-$& 1=C >1/)) $2 2 % 2%
2 1 % 1J 0% % ! &@ 1
<8 &)1& T <*& 41 =CC >1=/ 1>1$ ! )? % T,22 % 1
'$ &91 =CCI>17 % $ . 0 0% 1 /13 .&1<1 (
T61l % $ =/1>&! $ 0 $ 5 =221C E C>1"$ 2 E $1
=% % C % $,2 IAE-$ % E 08 " 2.

$% 9 ? >1

8% & 1=DD>1/0% % % 6 2% A#E @ 2 %N $
+ ! D& E 1

- +$&-1T( &)1=DD>1( B $00% 2.%2.%$H 1
9 % B9 % 3'134 >3>>@5!



. $ + / 0!"1"234

( $) # $ ! JLINS)
-+$&-1T( &)1=DDI>17 0$ % 0% . 20 $ B $
00 % H 1 9 % B9 % 33 1K4 33H 3@5
- &1 1T!% $%&,1'1=C >19 % $ 0%$% 0% 19 E)
|1& C EIDC1
, & 11 =D>1 S$%$ ) % U 7 % $ 1 2 PP55512 % 1
2 1 P2%P P A1 3
% % & "1 =CC>1; 2 0 + 2 % $. # $ 3
% $1( $ % 0&7% % 4 # % 1
% %& "1 =CCC>13. %72 2% 2% $; $ 09 -% 1 914%$=/1>&
0% % 8$ | "$&( $ & 5V 1
% % &"1&T6 &@1=CC>13. %25 % % $ 0% %
2 % %$ .1 % ! & 1
% %&"1&) * % &)1&; $&IT"$ &1=CC>3. %% 2% $ $ 0 $ % $
$ . 0 2% 5 2 % 00
% 1# B BJ %$ & & D D1
% %&"1&) + %&)I&T6 &@1=CCC>17 .0 % % 0 %
$ .% 2 2% 1- $ 2 5 $ %
N% %1 INO % I & C ID1
% %&"1&) + %&)1& 5 &(1&T6 & @1=CCC>17 . 0 %
% 0 % $ .% 2 2 % 1- $ 00 %
51 N %1 INO % I & | C1
% % &"1&9 &;1911&!' % & 1&T@ & (CGC%>1 N9 % ;3.
27 1 % 1J10% % !
%$ $&'1&< &31&' &-1<1&!$+&N& &<1,1,1=D >1/)!'% 3 ,
, 2 - $.1" 72 13: D1DD PDID DC1
$ % ) #  $ F'"$ @"1
0$&/1=C >1! $$ 0 0o " )2
0 1 1 0$T"1 =/ 1 >& $ #
$! =221 D>1"$% $ 08 6. 0 2+ &
@ %O 33&" $ 1
0%$&/1=CC>1 0 +2 + ;05 1 @16 &/1 0$&TI1
*$ =/ 1>& $ % % ! =221 >1 4 # $1
0$&/1=CC >1! % 2.%3% % ;S 3 7 0
1($ % 0& 08 -.% $ ($4 #
"$1
0$&/1=CCI>1 . ) $$ ! 18 @A 1
0%$&/1=DD>1 J % % ) $
) 1 1 0$5&,162 T71<% =/ 1> &'% 3. DD&-
% % - $ < %& E 1
0$5&/1T6 &@1=D>1FH & 2+ 335G - % $ $ 5 %01
2PP$ ++ 1P52% P2% PDP P 0%$0O 120
2 &-1=D >1= J % - $ $ $ D ! 5%
7% % $&( 1
& @161 =CC>1 | + # $ % '$ ! / )
2.% % - 1(% % 0&4 # @8+ 1
& @161 T< &31=CC>13 5 5 + 2%
02 Iy 2 1 N$ % % J 0% %

& CE 11



- % + [ 01"1234
( $) # $ LN
7 +&(1=CC>1- +* $. $% 2+ $ 1328 &
08 -.% $ 4 # 1
| &/1&T % &"1=CC>1' $& $ 2%$ 0 + ;8.
( 1 F 9 &'22 D D1
&"1=DD>13 $$ 5% $ $ 5% 1|+ <? -$ E
% ) % % ! 1 #C= #  $ &IC& & E 1

% 0 51 W $ 1



